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��  2
���  z = a + bi

z + 2z − 3z = 3 − 45i → a + bi + 2(a − bi) − 3(a + bi) = 3 − 45i

��กก�	
���ก
����������
���������������( a2 + b2 − a) − 5bi = 3 − 45i

���  −5b = − 45 → b = 9 a2 + 92 − a = 3 → a2 + 92 = (a + 3)2

�
��
��  a2 + 81 = a2 + 6a + 9 → a = 12 z = a + bi = 12 + 9i

∴ z 2 = z 2 = 122 + 92 = 225

��� 9  ���� 5  
��  4
���  z  =  a + bi
z − 1 − 4i = 3i(z − i) → a − bi − 1 − 4i = 3i(a + bi − i)

a − 1 − bi − 4i = 3ai − 3b + 3 → (a + 3b) − (b + 3a)i = 4 + 4i

a + 3b = 4 (1) , b + 3a = − 4 (2)

��ก  (1)  ���  (2)  �����  a = − 2 , b = 2

�
��
��  z = − 2 + 2i , z = − 2 − 2i

��� 1) ∴ ��� 1  '(ก)���z + z = − 4 , i(z − z) = i(4i) = 4i2 = − 4

��� 2) ∴ ��� 2  '(ก)���z + 2 = −2 + 2i + 2 = 2i = 2

��� 3) ∴ ��� 3  '(ก)���z2 = [(−2 + 2i)]2 = 8i → z2 − 8i = 0

��� 4)   =  z(1 − i)3 (−2 + 2i)(1 − i)3 = − 2(1 − i)(1 − i)3 = − 2(1 − i)4

= ∴ ��� 4  �+�'(ก)���−2(−2i)2 = − 2(−4) = 8

��� 10  ���� 5  
��  5
���  z  =  a + bi
3zz − (28 − i)z + 4z2 = 0 → z(3z + 4z − (28 − i)) = 0

z(3z + 4z − 28 + i) = 0

ก������  1 z = 0

ก������  2 3z + 4z − 28 + i = 0 → 3(a − bi) + 4(a + bi) − 28 + i = 0

(7a − 28) + (b + 1)i = 0 → a = 4 , b = − 1 → a + bi = 4 − i
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�
��
�� A = {0, 4 − i}

��ก-��./ B = { z + i / z ∈ A}

= { 0 + i , 4 − i + i } = {1, 4}

∴ 0�1�ก���2+���ก�
���+���
�)  B  =  1 + 4  =  5
��� 11  ���� 6

z1 + z2
2 = z1

2 + z2
2 + z1z2 + z1z2 (1)

z1 − z2
2 = z1

2 + z2
2 − z1z2 − z1z2 (2)

��������(1) + (2)

z1 + z2
2 + z1 − z2

2 = 2( z1
2 + z2

2)

��� 12  ���� 6  
��  3
z1 + z2

2 + z1 − z2
2 = 2( z1

2 + z2
2)

5 + 1

2
= z1

2 + z2
2 = 3

��� 13  ���� 7  
��  5
z1 + z2

2 + z1 − z2
2 = 2( z1

2 + z2
2)

32 + 12

2
= z1

2 + z2
2 = 5

��� 14  ���� 7  
��  3
z1 + z2

2 + z1 − z2
2 = 2( z1

2 + z2
2)

z1 + z2
2 + 12 = 2(( 2 )2 + ( 3 )2) = 10

∴ z1 + z2 = 3

��� 15  ���� 8  
��  1
= z1 + z2

2
z1

2 + z2
2 + z1z2 + z1z2

=z1 + z2
2

z1
2 + z2

2 + z1z2 + z1z2

=32 z1
2 + z2

2 + (3 − 4i) + (3 + 4i)

∴ z1
2 + z2

2 = 3
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z1 + z2 + z3 = 0 → z1 + z2 = − z3 → z1 + z2 = −z3 = z3

z1 + z2
2 + z1 − z2

2 = 2( z1
2 + z2

2)

z3
2 + z1 − z2

2 = 2( z1
2 + z2

2)

1 + z1 − z2
2 = 2(1 + 1) = 4

z1 − z2 = 3

��� 17  ���� 9  
��  1
z1 = a + bi , z2 = c + di

z1 − z2 = s → a + bi − (c + di) = s → (a − c) + (b − d)i = s + 0i

��กก�	
���ก
�  b − d = 0 → b = d

z1
2 + z2

2 = t → a2 + 2abi − b2 + c2 + 2cdi − d2 = t → (a2 − b2) + (c2 − d2) + 2(ab + cd)i = t + 0i

��กก�	
���ก
�   ( b = d)2(ab + cd) = 0 → ab + cd = 0 → ab = − cd → a = −c
. .
.

�
��
��    ∴ (ก) '(กz1 = a + bi = − c + di → z1 = −c + di = c2 + d2 = z2

z1z2 = (−c + di)(c + di) = − (c − di)(c + di) = − (c2 + d2) + 0i

�����   ∴ (�)  '(กIm(z1z2) = 0

��� 18  ���� 10  
��  4
z3 = i → z = − i ,

3 + i

2
,

− 3 + i

2

�)�-��./ก�����   -�.�56  ab > 0  �
��
��  z = a + bi z = 3 + i

2

∴ =  iz5 + 2
2

i
z6

z + 2
2

= i
(z3)2

z + 2

2

= i
(i)2
z + 2

2

= i3 + 2z
z

2

= −i + 2z 2

z 2
=

−i + 3 + i
2




3

2




2

+ 

1

2



2
= 3

��� 19  ���� 10  
��  2
��ก-��./  z4 + 1 = 0

∴ z + 1
z

2
= (z + 1

z )2 = z2 + 2 + 1

z2
= z4 + 1

z2
+ 2 = 0 + 2 = 2
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z2 = 1 + 2i → z2 = 1 − 2i

5z1 + 2z2 = 5 → 5z1 + 2(1 − 2i) = 5 → 5z1 = 3 + 4i

  ∴5 z1 = 3 + 4i → 5 z1 = 5 → z1 = 1 5z1
−1 = 5 z−1 = 5

z
= 5

��� 21  ���� 11  
��  2
 �����  z + a2 = a z + 1 z = a

 �����  z + 22 = 2 z + 1 z = 2 = z

��� 22  ���� 12  
��  3
=   �����  z − a2 a z − 1 z = a

=   �����  z − 32 3 z − 1 z = 3

∴ zz = z 2 = 32 = 9 ∈ [9, 13)

��� 23  ���� 12  
��  4
=  1 + cos θ + i sin θ 1 + cos θ + i sin θ = (1 + cos θ)2 + sin2θ

= 1 + 2 cos θ + cos2θ + sin2θ = 2 + 2 cos θ

= 2 + 2 cos 2


θ
2


 = 2 + 2(2 cos2 θ

2
− 1)

= 4 cos2 θ
2

= 2 cos
θ
2

��� 24  ���� 13  
��  1
 =  1

z
a + ci + a + bi

(a + bi)(a + ci) = 2a + (b+ c) i

(a + bi)(a + ci)

z = (a + bi)(a + ci)
2a + (b + c) i

  =  z
a + bi a + ci

2a + (b+ c) i
→ z 2 = a + bi 2 a + ci 2

2a + (b+ c) i 2

=  z ⋅ z (a2 + b2)(a2 + c2)
4a2 + (b+ c)2

4



��� 27  ���� 14  
��  0
z1

2 = 1 → z1z1 = 1 → z1 = 1
z1

z2
2 = 1 → z2z2 = 1 → z2 = 1

z2

z3
2 = 1 → z3z3 = 1 → z3 = 1

z3

= (z1 + z2 + z3)2 z1
2 + z2

2 + z3
2 + 2(z1z2 + z2z3 + z3z1)

=02 z1
2 + z2

2 + z3
2 + 2


z1z2z3

z3
+

z1z2z3
z1

+
z1z2z3

z2




0 = z1
2 + z2

2 + z3
2 + 2z1z2z3




1
z3

+ 1
z1

+ 1
z2




0 = z1
2 + z2

2 + z3
2 + 2z1z2z3(z3 + z1 + z2)

0 = z1
2 + z2

2 + z3
2 + 2z1z2z3(z1 + z2 + z3)

0 = z1
2 + z2

2 + z3
2 + 2z1z2z3(0)

∴ z1
2 + z2

2 + z3
2 = 0

��� 29  ���� 15  
��  2
Z1 − 2Z2

2 − Z1Z2

= 1 → Z1 − 2Z2 = 2 − Z1Z2 → Z1 − 2Z2
2 = 2 − Z1Z2

2

Z1
2 + 2Z2

2 − Z1(2Z2) − Z1(2Z2) = 2 2 + Z1Z2
2 − 2(Z1Z2) − 2(Z1Z2)

Z1
2 + 4 Z2

2 − 2Z1Z2 − 2Z1Z2 = 4 + Z1
2

Z2
2 − 2Z1Z2 − 2Z1Z2

Z1
2 − Z1

2
Z2

2 = 4 − 4 Z2
2

Z1
2 − Z1

2
Z2

2 = 4 − 4 Z2
2

Z1
2(1 − Z2

2) = 4(1 − Z2
2)

 ∴Z1
2 = 4 Z1 = 2
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